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SCIENCE/ gmfleSlwi6d

111. Observe the following pictures and choose

the correct one on the basis of areg.

6 cm

B
C<B<A<D
A<C<B>D
A<C>B>D
B<C<A<D

. The reason for an iron ball to float in a vessel

filled with mercury is :

(1)  density of mercury is less than that of
iron

(2) density of iron is less than that of
mercury

(3)  volume of iron is less

(4)  all substances float on mercury

- Assertion (A) : Displacement of a moving
object is zero.

Reason R): 1t ravels equal distances in

opposite directions.

(1)

(A) is correct and (R) is the correct
eXplanatigy, for (A)

(2) (A) is COrreCt and

(R) is not the correct
explanah-On e (

A)

- (3 Ais

Correct 1,
(4). Bothmy, o0

t (R) is wro
4) anq (g 5

) are Wrong

111. &pssam.. uLmsmar 2 HmCHTES
urluerefear <oigLiLienL_udle Fflwmrey
elenLevwig CorBH6ls[HESHLD.

12

5CH‘1 -25 ]8

5cm 6 cm
A B € D

@)z C<B<A<D E‘I‘lf
@) “A<C<B5>D
3 A<C>B>D
(4) B<C<A<D

112. urgrsw Hro9u Wsmeasuld e

BowY Gan® WsILSHSTET HTFeTLD :

(1) urgresdlen oLisH @ mbenL
ofLé gope; U -7 ~3

@7 Qowler oLisd LTS TES NS

L& Gemeay

3 By @@ saisiere) Gepay
4) uUTErEsHler mandg) Ll Qummar
-&@pLD OFEGLD
113. sapmy Qusssde o drer R
Ol L 6rfl 6ot @ ri-
QuwITES Lheoesl i
SMTETTLD LG LT (Her THQrS
Slevssefler #0 Qg rane-
dlavens sLsdmg.

@h gapml &M CoLQYL  srrevwrid
apOliDsETer slwurer efeardsh
@D VN -1-

(2) sapm &fl, yearredd Snyewsrd
gpolpsener sflwrer oferésin
<D GVED.
samml &, STTewID Haum!.

SnpHml LHHID STTESTD @)FeT(HLd
Seml.

(
(
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15 Choose the wrong statement( ).

Temperature is a measyre of the total

kinetic energy of the molecules in an
object.

SI unit of temperature ig Celsius.
Liquids expand on heating,
Alcohol is used in thermometer.

(i) only

(i) and (ii)

.(i), (if) and (i)
(i), (i) and (iv)

. Match the following.

(2)
(3)
(4)

Freezing point (i) 357°C

of water

Boiling point (i) 273.15 K

of mercury

Freezing point (i) 212° F

of alcohol

less than
—100°C

Boiling point  (iv)-

of water

(a)-(iv), (b)-(iii), (©)-(1). (D)-()
(a)-(i), (b)-(), (©)-(1v), (@)-(it)
(a)-(iv), (b)-(3), (©)~(iid), (D)-()
(a)-(iii), (0)-(iv), (©)-(), (D-(iD)
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114. geupren sapmi/smhmsHeneTs
CoiibogH&s.

(i)

@M Gummefle o 6Ter p&-
musefien @ Quss YHmed
SiFen Qeuliublepeoum@Lo .
Qeuliudlepeoudesr Sl
2N :

BGW
framsmar  GQealulUGESID
Gurgl <iemeu eflflauanL b

A G
Q&g

Qeutiuflenawrailuier posanTed
LweaLRSsuUGEpg!

(i) LW
oppo @ W T -
(i), (if) OHMID (iii)

(), (i) opmId (iv)

115. Qum(HESS.

(a)

Bfler 2 ewpBlenr (i) 357°C
W -T~49

UNsrEsSl e (i) 273.15 K

Qarslblenc

<2, DSQTE0 60T (iid)

2 enmblene

Bfler Qardflene  (iv)

Z12* F

—100°C
-&GLD
S
(@)-(iv), (b)-(iii), (c)-(ii), (d)-(i)

(@)-(ii), (b)-(i), (c)-(iv), (d)-(iii)

(@)-(iv), (b)-(ii), (c)-(iii), (d)-(i)

(@)-(iii), (b)-(iv), (c)-(3), (d)-(ii)

O
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116. Choose the correct statement.

(1) Conventional current flow is from

negative to positive.

Electric current is the flow of electrons

from negative to positive.

Electric current doesn’t flow in a closed

circuit.

Electric charges flow towards a point

of high voltage.

. The galaxy that is closest to our Milky Way
is:
(1) Spiral galaxy
(2) Elliptical galaxy
(3) Andromeda galaxy
(4) Irregular galaxy

. Observe the figure and find out the values
of a, b and c.

N

www.TrbTnpsc.com

116. sflwrer spdeas CsTHESHES.

1) wry W erGemi_L LD Tl
el mbs GBI s
Qe dana. QH ~Tf « Y/, 18

@7 BlerCenmi LD erarlg 6revsi -
rrenagear erélir (peveruier Qmbg
Cpir paars@s ClFwausTELD.

B) pigw WersHHled W erGerm_Lib
LImITg).

4) WerarlLmsear oigls  Blar-
ar(pssd  2arer  LéTaflew
GCrrédll Lmuw.

117. pog uUrdaelsdrersE i@msld
Bw&@D eSlemiSen Syer :ﬁ _ﬁ_s 9
(1) &mer eflawriSesr $lyer
(2) BereulL ellawridem Hlyer
@7 <pewr_CrrwLm eSlawrder Hirer
(@) urspy elarber Hiyer

118. Yemeumd ULSaws 2 DnCrrEdl a, b
OHMID ¢ -6 ILILGmeTs FHeurLMls.
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9. Assertion (A) : Solid angle

. . thre

Reason (R) : Solid angle is formed p
the intersection of three 0);

more planes at 3 Common
point.

(A) is correct and (R) is the correct
explanation for (A)

(A) is correct but (R) is not the correct
explanation for (A)
(A) is correct but (R) is wrong

Both (A) and (R) are wrong

. In conduction, during the transfer of heat :

(1) molecules are transferred. (1)

heat energy is transferred without the @?
- actual movement of the molecules.

heat energy is transferred by the actual

movement of the molecules.

rred between

heat energy is transfe
same

two points which are at the

temperature.

11
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119, Sn M) . & RIS G&memTid

@uunﬂmnamm
Qg mesrL_g).

apenn DAO@GH ABDE
GohUL L SeThISET
QuTg)euTes yerefludle
Qeul_(Heugred HewTins
Garemid 2 (Heur&Dg.

gapm &fl  Goaibd &1T[] 6T0T LD
SammIDanesr &flwmer edleT& LD

%GL. Y — b

smpml &M, Syenred STTERILD
gapmimanest gflwimes eJ6TEHHLLORQ.

Fapm) &, eI SMTETILD S6UD).

Samhm)l, STTERTD @GreT(Hid Seum.

120. Qeuliusé sLgseder GLTg) flapeug) :

epssamsar GL b Quuirdlemer.

epeESaqGaTlen GUISSHLD BIeOMLO)
Qeulil MO WL(HD SLSFHLI-
LG Eps. i - 20

po&ammn Qusssseamme el
< Hme SLSSLLHS DS

CQeuliu gy Hperearg &w Geailiu
Bleneudl e o _@rer 8
Laieifl & 6 6 @ QoL Cuw
SLSSLLHS DG
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121. Choose the correct statement(s).
() Sound doesn’t require a medium to
propagate.

(i) Sound travels faster in solid medium.

(iii) Speed of sound in air is 331 m/s at
0°C.

(iv) Loudness of sound depends on its
frequency.

(1) (@) and (i)

(3) (i) and (i) -

@ @ and ()
(4 (i) and (i)

122. Choose the odd one out.
(1) Carbon (2)
(3) Phosphorus (4)

Silicon

Sulphur

123. Atomic number of oxygen and sodium is

respectively.
(1) 8and10 (2) 6and8
(3) 6and 11 (4) 8and1l
124. Choose the wrong pair.
(1) Hydrogen, Carbon - Monovalent
(2) Hydrogen, Sodium - Monovalent
- Divalent

(3) Oxygen, Beryllium

(4) Nitrdgen, Aluminium - Trivalent

www.TrbTnpsc.com

121, s SDHIS®ETS GabOsH&s.
() el ure sar_a1b GCoeneuuilcdanay.
vl — b5
/—— .
@l WTETS) HLuQumrmefer
au LIS Qeusldmell UTeySlng).
0° Qeofwadle sTodle eelufar
SHensGeusid 331 /e,
(iv) qpedludlem o Fliy ASeT ASIT-
QeuairenanrLs QUTHSS! SiSnG).
1) () wpgd @ @) O LoHmILD (V)
(@7, (ii) opod (D) (4) (@) LoHMILD (iv)

(id)

122. QUTEBHSTS RETODS GsHOS[HESLD.
(1)  smiuer 2™ (@\ fHeolssmen ="

(3) UTGLIFGLSBN (4) &&oolIT heoen

Vi -T-32
123. =y Gadlgen LD D My LD C&mig wib
< Sueupler sigm erarraer peppGw :
(1) 8 wHmb 10 (2) 6 OO 8
(3) 6 womb 11 @] 8 womib 11
VY -T- 48

124. QurwbsTs Qavanuilenars Corb0sHéES
s @1 ®anL_ygen, SriLe - V)| ~T-50

@heon Geeamdlmer
(2) ewaml e, Gamguid -

_ e Qoaripen
B) <sallmer, Qufadlwb -

Qe @) enentdlmer
(4) ewpLrmen, sigflafuib -

(PO @)enemTdlmet
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125+ Match the followmg.

(a) Non-periodic @  mixtu

.change quick 1;: d
Water |

(b) Exothermic (i)  eruption of
change volcano

(c) Physical (i) curdling of
change milk

(d) Chemical (iv) crystallisation
change

1) @-@), (b)-@), (c)-(iv), (d)-(ii)

@ @-@), (b)-(i), (0)-(iv), (d)-(ii)

B  (@)-v), (b)-(i), (c)-(i), (d)-(i)

4)  (a)-(id), (b)-(v), (c)-(), (d)-(ii)

126. Choose the correct pair/pairs.

Heating

(i) Solid ————=> Liquid - Freezing

(i) Liquid—lhlfii—n—g—)Gas - Evaporation

(i) Gag iS00lng Liquid - Condensation

(iv) Solid—Co0lng ,Gas - Sublimation
(1) (i) and (i) () (i) and (i)
(3) (i) and (iv) (4) (i) and (V)

13
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125, Quﬂ®§@&_

(@) sre gurispp () &L
WTHDHLD & GUOT GOOT IT LD -
YL e B
(€2:0),¥:3
SO G
(b) Geutiu 2.18lp (i) erflwere
cllen et Qleuig Ly
€ Qublwe (iii) LImeL
LTHDHLD Sulrrgen
(d) Ceuglufwied (iv) LIg&LOTge)
LOTHMOLD '\z_ﬁ il 60,5
- O @), B0, ©-Gv), (d)-G)
@) @-@), (b)-(i), (c)-(iv), (d)-(iii)
®)  (a)-(v), (b)~(iid), (c)-(i), (d)-(1)
(4)

(@)-(iid), (b)-(iv), (c)-(1), (d)-(id)

126. sflurer @Qean/@mansmeas Csib-
Qg H&s. W __ji_ 47,50

(i) ‘QG’O:OTLDLb Qeuiuu(H &SSO N Q‘T@Jm _
(i) @U—Q-”—b Qauiuiu(Bsgige , G -
< Nwrse
(i) eumyy _®aTdSED | Araun -
26l HHEIGSD
(iv) Sleawmow m eumy -
LISRIGLOTSED

1) @) wpmod (i) G ) wHmo ()
(3) (i) HmId (iv) (4) (i) LOHMID (iv)
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127, Assertion (A) : There are some changes in 127. sammI
which heat is absorbed. Geuliib 2 HlepFring. 1
This is endothermic fpgl. g Ceuiu Ty
change. LOTDHOHLOTEGLD.
Reason (R):  Water absorbs heat and SMTEUTLD : pir Geuliugeng 2 Blerd)
becomes water vapour by 2peWITEED epeotd Byreq
the process of evaporation. wrdlpg.  uefl &al g
Ice absorbs heat and Qailiugamg g
becomes water by the 2 (HGSD YPw
process of melting. B ‘ﬁ!DQl-W T~ o
(1) Both (A) and (R) are correct @/l a'n,rbgl, SMIJ6OTLD @'T%@Lb &ifl
(2)  Both (A) and (R) are wrong (2) sadmI, STTEWID QFeT(HID Foum
()  (A) is correct; (R) is wrong (3) amg)@] &fl, smyevorLD Soaumi '
(4)  (A) is wrong; (R) is correct (4) &abDmI Seum, SMewIDd Fifl
128. Match the following : 128. G]urr@gg,]a; : \7\? :ﬁf A
(a) DNA (i) spiders (@) ig.ered.er (i)r‘ﬁeu};g\
(b) Lignin (i) protein polymer (b) déaflerm (i) yrs LeLg
(c) Chitin (i) synthetic polymer (€) ewsligen (iii) Cewmhens LieLIg
(d) Plastic  (iv) gives structure to plants (d) ALY (iv) ST ThI&(EHE G5
SLLemLis
: Qar@HLiLg
1) @-(), (b)-G), (o)-(i), (d)-(iv) M @-0), ®)-(), (o)), (d)-(iv)
(2 (@-(v), (b)-(ii), (c)-(ii), (d)-(i) (2) (@), (b)-(ii), ()-(ii), (d)-(i)
(3 (@-(id), (b)~(iv), (c)-(i), (d)-(ii) ®n @-G), O)-Gv), ©)-G), (@)-(ii)
4) (@), (b)), ()-(v), (d)-(ii) (4)  (@-(), (b)), (-v), (d)-(i)
129. and are antibiotics. 129. LOHMILD GTETLIEN G
26MIq LILITL Iq &G &aT <A GLD.
(1) Diclofenac, Ibuprofen (1) e sCermAens;, O\ENT WART)
(2) Diphenhydramine, @ g Cudnemant yewoar,
Chlorpheniramine GGerriQuefreniwen
(3)  Chloramphenicol, Tetracycline @1 GGerrCrmibi Qe &ame,
' QL yrengsdeflen ﬁ"ﬁ ~-3b
(4) Sodium bicarbonate, Calcium 4) @&rn.q_u_iLb mu&nﬁu@ml'_,’—

carbonate

14
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30 Constituents of elements in Calamine 5
‘ re :

1)
2) zinc, carbon, oxygen
(3)
4)

copper, sulphur, oxygen

—_

zinc, copper, oxygen

sodium, calcium, zinc

131, Fishes and meat contain high level of :

(1) poly unsaturated fatty acids

mono unsaturated amino acids

(2)

(3) poly saturated fatty acids

poly unsaturated amino acids

)

2. The two metals that do not react with
oxygen even at high temperature are :

(1) (2) Ag Ca
3) (4) Mg Pt

Cu, Ag
Au, Pt

. Find the odd statement in the changes that

take place in a flower during post

fertilization.
(1) Calyx sometimes persist with fruit.

Androecium fall off.
Ovules present inside the ovary
develops into fruit.

Style and Stigma fall off.

15
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130. ‘sreepwen’ - @dleierer g)asﬂmfmasm
(1) smAFD, sOUIT, gdedigen VI
@7 GIGSBIGHD, STTLIET, <2}, &N Q60T
(3)  &ESBI&HD, FTOFD, 2,560l EQ 60T
(4) Gamguwib, Srelibd, FSSHISLD

\ ~\02

131. Beans(end, GamFsuD 28 s sjeraller
06 CEme(HeTeTe.

@)7 Lueouly Blapajpr QarpLliy

o LO GO MBIGET vy - 111

2 emug Hopaypr ABGaT
o LO QRIS 6T

¢) ueouy HopedD QamrupUy
oL GO MBISET

4) ueuy Hopajpr <8 Gesrm
SO QMBISET

132. 24& QeuliLGS e b <, &l QeI e
Sevaryfurs Q@ o CorsnEse : V\\\ 120
(1) Cu, Ag (2) Ag Ca

133. SHMSISGS e Loeoifled ;r)em_@ugum
Lo ) [ MBI & 6Tl 6D @un@ggng RATMDS
Gsira] Cl&Ls. v‘\\ ~Ti 63
1) e asasﬂasaﬂa) Lebed eul LD

 gafiCur® @Llg HerasSmEELd.

&THESSTET eu LD 2 Si&ng).

@GhenLiudle) 2 GTaT GevsaT saflGerns

Lomm ST

GD&5S S&T(HLD, GhHeruwb 2 -

Sleent.
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134. Which one of the following sequence is in
correct order ?
(1)  Flower — Seed — Pollination =
Fertilization
Flower — Pollination — Fertilization

— Seed

(2)

Flower — Fertilization — Pollination
— Seed

3)

Flower — Pollination — Seed —
Fertilization

(4)

135. Match the following.
(@) Underground (i) Nepenthes
stem
(b) Traps (i) Avicennia
(c) Gases exchange (iii) Cuscuta
(d) Sucking root  (iv) Colocasia
1) (@)-Gv), (b)), (0)-(id), (d)-(iii)
) (@)-Gv), (b)-(0), (o)-(ii), (d)-(ii)
3 (@-@), (b)), ()-(iv), (d)-(ii)
4 @-@), (b)-(v), (0)-(ii), (d)-(ii)
136. Select the true statement about Lysosome

among the following.

(1)

Involves in Protein Synthesis

(2) Generates energy for the cell
(3) - Helps in cell division
(4) Acts as the main digestive

compartments of the cell

Kindly Send Me Your Study Materials To Us Email ID:
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G i eu (e e HDIET 6T e el gllwrer

aflepsudd SiepDBSIETETS ?

(1) e — elleng — LD5‘7.!‘5§>3
Carisens — H(He|DISeV

e —> Loasuﬁ)g;é@ar'réim/a;, -
HHEDISED — efleng V1| ~1-58

e - EHAINSD - LETHSS

€)
Gsiisens — s
(4) e — &THSECHTEDS —
eflens — &H(HEMISE
QUT(HSSIS.
@) seordp sar® () OpLUBSED
W ~T~-bS
(b) Qameedlger /Eii) el eflwim
(c) eumy uflrHoLd (i) SevEL LT
(d) oMeprs Gounrger (iv) CaFliLimi-

Slpmi
@1 (@)-(iv), (b)-(i), (c)-(ii), (d)-(iii)

(2 @-(v), (b)-(), (o)-(ii), (d)-(ii)
@) @-@) (b)), (©)-(v), (d)-(ii)
(4)  @-(0), (b)-(iv), (o)-(ii), (d)-(ii)

19l 6tmeu (heuameu Hmjeir “eaGarGaribaer
uddlu 2 @ren o wires .0 1l 60 637 &

@ﬁﬁﬁ’@.@@é&&mm. vii el
(1) R

HTS 2 DUSHGD Lk Qupdms
QE_@@I&@ Comeiwnar wyhmana
2 DLIGE) Q&u'_léﬁg)g,j

Clsc Wflseées, 2 56|4l g

Qoo Qsdraln WP SETen Lo Wi e
Qeflonar Lgg <G

(2)

(3)

&

padasalai.net@gmail.com



https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

www.Padasalai.Net

137. Which one of the followin
the characteristic featy
1) They prod i GYmHOSperms i
1) Yy produce flower with fouy Whor]
1S

such as calyx, corolla, androecium and
. e
gynoecium.

g statement depiCts

() They possess vascular tissues, Xylem
without vessels and phloem withoyt
companion cells.

(3) Ovary develops into fruit and ovule
develops into seed.

(4) The plant body is well differentiated
into true root, stem and leaves.

138. The causative agent of Periodontitis is :

(1) Bacteria in teeth

(2) Vitamin C deficiency
(3) Genetic condition
(4) Tobacco chewing

139. Choose the incorrect pairs.

(i) Muscle cells - long and spindle shape
(i) Epithelial cells - biconcave and disc

| shape
(iii) Red blood cells - irregular shape

(iv) Nerve cells - branched and elongated

shape
(1) () and (i) (2) (i) and (i)
() ()and@) (@) ()and (@)

www.TrbTnpsc.com
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137. &paar aursdlwnigeia, obCearmen-
Quiribseflen Liewmienes ST,

(1) yeved el b, el eulL b,
DETHSSSTET UL LD HHID GHes
QUL-LLD GTET [Besid i(h&@Gsemens
ClamragrL_g).

@} QUG @GRV HHENDEET 2_6HL_UIHE.
DFVS FEESHT nFws @PTisET
QardHlyd  wHob HGerrwg
H&&SH6T Flememnt Clgaaer Gembluyd
sramuu@Serper. VU L - QL4

(B) GOSDL SANWUTHE|D, GGOSET
eSlens&aTT&H6LD 2 (HeuU T 6mmen.

(4) SMTUT 2L TG 2 66N LD W Ter
Geurr, sewr(h WOHMILD @ENVSET GTen
Caumiur(® ieLBg Smewtiiu(p -
Flarmg).

138. SpsarLcupmier erg Lnsdla Crrenw
(SACUIGCLTeTenL Ilgal) 2 6HTL T @ LW
sryenfl ?

1) upseiled sraviiu@n Urser -
W T&& 6T

(2) eweulLLblewm C Geomum(

(3) wyuem Bl —

Lenaulene Qudgissd YU ~T-78

139. gmmnmm ) TS M TS
65 (H&S5eLD.
() ses Qedser - Hear HMID
FHTCSHMD GulqeuLD

Csirb-

(i) on9Sflwud - U G LOID
CFeoger L eulgelld

(i) @rds Heuliy - RBSHD Glg.eULD
QEer&6T wn -0 -75

(iv) By Csesar - QGU)FET—(B:')‘E) LOHMILD
BaRTL GUiq6uLD

) @) woow @) N @) wpgd (i)

3) (i) womid (iv) 4 (1) LHMILD (iv)
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- Ea
ch ceqy is interconnected with its

nelghbouring cells through

(1) Protoplasm
(2) Cytoplasm
(3)  Plasmodesmata

(4) Cell membrane

. Choose.the correct order of the processing
of wool.
(1)  Shearing, Scouting, Sorting, Carding,
Spinning
(2) Shearing, Sorting, Scouting, Carding,
Spinning
3) Shearing, Scouting, Carding, Sorting,
Spinning
(4) Shearing, Sorting, Carding, Scouting,
Spirming

142. Find the correct statement(s).

(i) Penicillin is used to treat diseases such
as Tetanus and Diphtheria.

(i) Probiotics are used to decrease
cholesterol absorption.

E-coli bacteria living in human
intestine helps in the synthesis of
Vitamin - A and Vitamin - D,

(i) and (i) () (i) and (iii)
(ii) only (4) (i) and (i)
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140. @euGQeur@y QeI ABHED 2 6re
Q& 6v & (61 L 6T '
@ameansgis Clarerdlmg).
(1) yCrrlCLmierred
(2) s GLmlerrsid v -0 16

@_( QermeGmre _esvwml_Lm

(4) Ogev Foua

141. sueflenw 2 (Heurs@h Fflwrer cufleng

wpepieamer Csre| GFws.

1) =55M5560, spaisa, sTbNSSD,
8505 H550, BIHDE

@7. 555M556, Hrblifssa, swa ge,
A6Qs(50, BIOPL A~ 107

B) 550550, sWeisd, HECSHESS®,
sroUfS5®, BrHmed .

@) sssfsza, sTLAMNSHD,
A5 550, 51a 56, HIDE

142. sflwumres aalg)gj/ahg)gw;mmg, Ca -

Qg@asas@_[m

@)  Cuelfedler QL reame, qrigfwr
Gurenn Crmiisenar GTUL(HSS
2 5a/8IDg).

@  YyCrruwm’ g &Eear Q& TeevL_TTed
2 flersliuheuans GDEFH et
waflgafler  @L6e QU (LPLD
or.Carene Lmsle M eveur_ L 1Slar

- A 0DOib eveul L 186 - B gl (U
CummeTsener 2 pusdl Celieugled

2 56 dng). \/lll L1493 HE
() Hmid (i)  (2) (i) wHmb (i (q)
(i) LB (@7 (i) omLd (ii)
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143. pDandruff is causeq by .
(1) Trichophyton Species
(2) Microsporum furfur
(3) Albugo candid,
(4) Tinea pedis

144. The role of optic nerve jg :

(1) To carry all the nerve j

(2) To adjust the eye lens

(3) To control the €ye movement

(4) To provide nutrients to the eye

145. Match the following :

(@) Upper arm (i) Carpals

’ bone
(b) Wrist bone (i) Metacarpals
() Palm bone (iii) Phalanges
(d) Finger bone (iv) Humerus

(1) (@)-(i), (b)-G), (€)-(iv), (d)-(ii)
)  (@)-Gv), b)-(ii), (©)-), (d)-H)
@) (@)-(iv), (b)-(i), ()-(i), (d)-(i)
4)  (a)-(iii), (b)-(i), (c)-(id), (d)-(iv)

19
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143. Qur 2 L_TEHGLD LLEHens :

1) werCamenu Lren Qeid

*

B) @eoyCar Caerig.L_m

DWECTTEVCUMTD SolifLilt Vy\,) RO L
4) eellwur Glug 6w

144. uUirfreneu Broer Lemfl : \11) ~218

SADASF  BIDOLE  FrewTL -
soaryd clifisHenruicr @Qmma

Qupm, epeersw THSHH &
Qspflng).

(2) Qaznem; sl Qawige.

) samr Mo HMmaTE &L (HL-
LHSSISD.

4) seamentlng 26L& )& 6 6T
CULPMRIGSH.

145. Qurmpsgs L/_ll_\ - 9233

(@) Cuwmn s i) sTTUSeT
GTEILDL

b) wefss (i) Guwiimr
eTE)LDL STTLIOSET

() odramhiens (i) 5 sLIDIT(GH &G
GTQ)|LDL |

(d) oflyed erayidy (iv) anOwrev

@ @-(), b)), (©-(iv), (d)-(ii)

@ @-(v), BGi), ©-6), (@-(i)
O @), OO, -G, (@-(Gii)
(@) (@), (b)), (C)(i), (d)-Giv)
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SOCIAL SCIENCE / &ep& inleSlwiev

146.
The COmp031t10n of metals in the coins

indicate the _ condition of the

Empire,
(1)  Political (2) Social
3) (4) Cultural

Economic

147. Assertion (A) : Cholas gave importance to
irrigation.
Reason (R) : The 16

embankment built by

mile long
Rajendra Chola I in Gangai
Konda Cholapuram stands
as the best example.

1)

(A) is correct but (R) does not explain
(A). '

(A) is correc't and (R) is the correct
explanation for (A).

(2)

(A) is correct and (R) is wrong.

)

(4) Both (A) and (R) are wrong.

148. Delhi Sultanate followed
k of architecture.

(1)
(2)
C)
4)

R W

Gandara style
Indian style
Indo-Saracenic style

Rajasthani style

20
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146. pravwmsafled o drar 2 CarssEsaeam,g

Cugpdler Hlen ev émuy
@n%@tb- Wi ~T - \0b
S rélwied (2 Fops

@7Qurr@mrrg,w (4) ser&aFTy

147. sapmi :  Gempiser, Bruursarsdne
Wp&Ewggiaud aupmiSlen.
SA6TOTD : SHINS OlFHTeiTL

Cempursdled, wpsemb
GrrGgndlr Gampane
2 (HeuTaELLL L Liflarm
e Berd Qsrewr erflg -
&S & (b LILIEn 6w
WBla&SmbHs
THSSIEGSTLLT@LD.
gpm &f, <emed) &rrewd
gnpenm eflaréseilvena.

Fpm &M, Cuaib Srrewib,

Fanmiibarest aAwimes eSlengaLomLb,

Fampm)| &, asn%;g~ 132

SOOI LHMID SMyeveTd Qrear(Hin
seun).

(3)
4)

a;l_l_l_ssassmuemu_lu e leriger.
1) smbsrrs sme

@ @bdus s y1) -2 -5
@] QG sryretafls semea

@) Qrrgavsreis sama
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@)

(2)

3)

(4)
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started a mass Rakshg Bandhan
festival during the Partition of Bengal

Mahatma Gandhi
Sardar Vallabhai Pate]l

Subhash Chandra Bose

Rabindranath Tagore

150. Ala-ud-din Hasan Bahman Shah divided the
Kingdom into four territorial divisions called

(1)

3)

Sthalas Tarafs

()

Mandalams Gauda

4)

151. In the Mughal administration ____
was in-charge of the army.

(1)

(3)

Wakil () i Aty

Mir Bhakshi 4) Sadr-us-Sudr

149,

150.

151.
. QITEICISSIMDES HMDEFTTEUT.
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g—”ﬁﬂdﬁf-l 9f o9 eneorul e Currg
U®LD.‘”TQ9]Q)WGN TSOYTLIHS e aflprenaus
Oprtidami. gy T -12 0

(1)

LDETHLOM &)
2

FTHTT eueeoLmis LG &

@)  aurey FpSHrCumen

@"] reibHTBTS Srant

SoTe Ser anser UTLETesT Searg

DITME  BIGTEG (DTS TERIESETTEL
Gfggrr. oewes ____ erew
SIMLD&SLILIL_L_aT.

{ 7 ~TC A9
(1) evsemIGET @7 SITLISET

@TLmIGeT (4) OseTLm

(3)

s L0 WSO freurssslel

v R O

g—

(2)

QUEED \Birewmen

(1)

@7 Birursedl (4)  FST-2 60-&g
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152, Match the following :

(@) Peshwa (i) Secretary

(b) Shurunavis (i) Chief Justice

(c) Senapati (iii) Prime Minister

(d) Nyayadhish (iv) Commander-
in-Chief

(1) (@), (b)-G), (©)-v), (d)-Gi)

@) (@-Gv), (b)-(ii), (o)-(ii), (d)-(1)

3)  (@-(i), (b)-(ii), (9)-(iv), (d)-(1)

4) ()i, (b)-(i), (o)-(ii), (d)-(iv)

. is considered as a typical
r'épresentation of Tamil Buddhism.

Manimekalai

(2)

Thevaram

(1)

(3) Vira Sozhiyam

Silapathikaram (4)

“Raksasa Tangadi” was also known as

Battle of Panipat

M
‘ (2) Baitle of Talikota
(3) Battle of Tarain
(4) Battle of Chausa

Kindly Send Me Your Study Materials To Us Email ID: padasalai.net@gmail.com
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Qufr@g@&.: /—"l‘i -E——\ED

(a) Guegeum (@ Qewer

(b) &pBTedev @) Semeenld
BHLS

€ Geearrugl (i) STSLO
D|DIDFET

d) Hurudev (iv) BMODLDS
orig

(@)-(ii), (b)-(). (0)-(iv), (d)-()
(a)-(iv), (b)-(ii), (c)-Gid), (d)-()

2

@) (a)-(iD), (b)-(ii), (c)-Av), (d)-()

@) (a)-(ii), (b)-(), (c)-(i). (d)-Gv)
 spflp Cuarsssemsu
ﬂvﬁ@ﬁwmuu@wwm@w bl
(1) Ggeumryd Loasvﬂ(‘éma;ma)
) Seludsmrd (4) eiFGemflwid

“ITSEEE ghIsK”’ eremmdlwiiul_ L Guid

Vi 1 - 1b

1) wrefluuc Ho Gur
2) sewsCasrier Cumi
€ s0nder Gurit

(4) Qserer Gurt
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i SRR A was th
e € famouysg Buddhijst
(1) Ajanta (2) Karli
(3) Nalanda (4) Kanheri

156. was the immediate cause of the

Vellore Revolt.

(1)  Introduction of new turban

(2) Introduction of New rifles

(3) Ban of religious marks

(4) Indian Sepoys were treated inferior
157. Arrange the following events in

chronological order.

() Battle of Adayar

(i) First Anglo Maratha War
i) Battle of Buxar

(v) Battle of Arcot

(1) @), @), @) @)

@ @) Gv), @) @

(3) (i), @), () @)

@ (i), (), @) @)
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T —— Was  Hpns Querss
&ITen i v ST .

TWT@Lm. v -1 16
1) ompsr (2)  srrad
(@l [BIT G b T (4)  sanCGan

— Ceau@ni swssdean 2 argd
&iyamtl (3, -
POR Wl - 4b

@I HSw semaliurens s
2 UPu Yusbd Sidlepsid
)

Fowl éqem_u_lrrmg._'r, S

@udwu Aluriisemer FTHITS
pL&Sug

(4)

{

Qenau(sid HEpajsmer sTsATDOLILL

auflanslIuB &SI, ’!’,_T" _wp,15,1b

@) e wry Guri174b
)  psed mdCow wrrdwl Gur 775

i) ugsri Gumt 1794

(v) <ppsriEo Gumt 75

(i), (), (i), (iv)

(i), (iv), (i), (i)

(i), (i), (@), (iv)

(i), (iv), (i), (i
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The drain theory was propounded by

158.

(2) Rabindranath Tagore
(3) Dadabhai Naoroji

(4) Jawaharlal Nehru

159. “Keeladi” is situated in the
district of Tamil Nadu.

(1) Madurai

(2) Sivagangai

(3) Pudukkottai

(4) Ramanathapuram

160. is the world’s biggest Active

Volcano.

(1) Fujiyama
(2) Kilimanjaro
3) Popa

) Maun, 1 0a

158.

159.

160.

www.TrbTnpsc.com

- i1 el
Qedeud g1y T L&V it
F eV : )
S T QJ|T /
@W@LDW@IEQ m f—b%

LD&THLOM STHS WG

1)
2. @respBrpT BT
(@ sromomi: T
4) ggeugmr'ra)rrcb GB®

“Spg g@g’p(mrrt_u%eb- ____________
wreul L&Hd A@DHSICTETSHI

(1) wg®eT V\/“ g t;t,.

@7 SHousmans

(B) uyssGsrieL

(4) Qrmoprgyrd

e wfler WsLEAUAW Qswdu®mbd
erifleney 24GLD.
Vi —T7-163

1) dyDuror 2

(2)  SeflworgrenCrr

B) Cumiumr

@'] weyerm Geom
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161. Identify the picture :

2]

(1) Ox-bow lake
(2) Plunge pool
(3) Meander

(4) Delta

162. The World Cultural Diversity Day is observed
' on

(1) 11t July (2) 215 May

(3) 21 February (4) 11th June

163. Among the following which of the statement

is wrong ?

(1) Petroleum is drilled from oil fields.

(2) By-products of petroleum are diesel,
petrol and kerosene.

(3)  Petroleum and its derivatives are called
Black diamond.

(4) Arab Countries are leading producer
of petroleum.

161.

162.

163.
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EssaTL UL eTensd GNSSHDG ?

B

%@Qmué; @aribLy el

(2) elumie GCs&sLD

:\/j\_\,'—(l" L7}

(3) <WHM QUMETE|EET

(4) QreoLrm

2 V& SOTEFSTT LIGT(PSHSSETENLD Slerid
<2 GLD. v LY - 183

(1) 9o 11
(3) Ydgeuf 21 4)

sapmisafler eTg Saupreng
- XY s

)

?
T ~ 69

1) QuiCrrellwib eramr@emTii 6wl -
safled @QmBgl Hlanemuil (B eTHdasLi-
LBE g

<

!

(2) s&er aamlemulamHg wae,
QUL Crrellwibd, e @ 6w e ety
Sl _&8pg).

@7 QuULCrredwib LHMID , e

2 LQurBeraeT &Ly E’% GTauT
SIDWESLLRHS D).

4)  QulGrredws 2 LA Gy

Brh&er  wpsemeno QL sHe
2 Gerg).
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mml]]
164. Identify the correct pair.

Nainital - West Bengal

1)
(2) Shillong - Kerala
Ooty - Uttarakhand

Shimla - Himachal Pradesh

compounds are used in making

165.
disinfecting liquids, bleaching powder, etc.
(1) Bauxite
(2) Limestone
(3) Coal
(4) Manganese

166. North America has Time Zones.
1w 7 2 S
B). -8 (4) 11

167. Red colour in the map denotes
(1) Snow (2) Settlements
(3) Agriculture (4) Forest

164.

166.

167.

26
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river forms the boundary

168.

between USA and Mexico.

(1) Mississippi
(2
3

(4)

Rio Grande
Missouri

Mackenzie

169. Bhopal Gas Leakage is an example of

disaster.
(1) Man-made
(2) Natural
(8) Industrial
(4) Technological
170. South India lies in the zone.
(1) Temperate (2) Torrid
(3) Frigid (4) Tundra

171. rocks are formed by compacting

and cementing.

(1) Intrusive igneous
(2) Metamorphic

(3) Sedimentary

(4) Extrusive igneous

27
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@ubens
CsmhHETene
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@? Qeuliu

4)  simay

170.
o _GTemg).

(1)
3)

Blg CQeuliu
@eflr

171.  LUTED&EET 9(pSELD LOHMILD

Qeanss gad 2 mardaman,
(1)
@‘z 2 HrdHu LTenHaET
(3)
4)

2ar(B(meSw FLiirenmaser
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Cevafliypg Sriimenmeaar
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172,

178.

(@)

(b)

(d)

Which of the following is not a reason for

drOl.lght ?

(1) Failure of monsoon

(2) Afforestation

(3) Reduction of ground water

(4) Lack of rainfall

"Match the following :

Private Sector industry (i) Mahanagar
Gas Limited

Joint Sector industry (i) ~Steel Authority
of India

Limited

- Public Sector industry (iii) Anand Milk

Union Limited
Co-operative industry (iv) Reliance

(1) (@-(v), (b)), (©-(E), (d)-()
@ (@-(), b)), @), (d)-(v)
()  (a)-(ii), (b)-(iv), ()-(0) (d)-(iD)

@  (a)-(i), b)), ©-(i). (d)-{iv)

172. @aupPe @5l aupl_ 8 gHULS STraRLD
o0 ?  Yuj —\4&
/—- - -
(1) LGIL®P QUTUSSD
@7 PICELR GuUGTITLIL
) Hesss BT @O0

4) @oDeTE LDGU)IC.QL'J@L”TIC.@@-I

PR 4
i « _\b\
173. QUTHSSHS : v

(@) seNWTT D (i) L&THST Uy

QgmflesLd Hlmieueid
b) &L@ssop (i) U BObyY
Qgmhlesd 6To oG
<}, G T LI LD

) Qurgsgen (iii) S ETHS LI
- Qsmfleoshd gem i
Flmieueid

d) sL(Bpaysgemn (iv) flepewerev
Qg T esD

@) @-v), ©)-), ()G, (d)-(i)
(2 @-(1), (b)-(ii), (o)-(ii), (d)-(iv)

(3) @), (b)-(iv), (c)-(3), (d)-(i)

(4). @-(i), (b)-(), (o)-(ii), (d)-(iv)
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174. wrfle L e Gooame 2 muUienym-

uUBHE GdPHLULE LG

174. To become a member of Legislative Council,
one should have completed

years of age. i —_\’f =198
(). 25 (2) 30 (1) 25 @\ 30
(). 85 (4) 18 (@) 35 (4) 18
175. Find the odd one out. 175. QUIBHHSTS RETDDS Gsiiay &S,
(1) Television (2) Radio (1) QsreressTiél (2) cur@ermad
—D —
(3) Newspaper (4) Letter (3) @Euﬁgﬁgg,rrm @] 85Iq-§)Lb \’/_\1 -~ -205
176. Find the correct statement/statements : 176. sflwrer dapm/ oD M FHENETE GerL_Hlul-

)

The Leader of the Opposition Party (i)

holds the rank of Cabinet Minister.

29
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(i) Opposition Party cannot raise their () eTHisslH, pslar seupmren
' yoices on the wrong policies and Qsrarensser HmID Caraeilsamear
failures. QeuefILBHSSTS.

(i) An effective Opposition Party is very i) waserr & Qeupdlasrions Cewe-
essential for the successful operation LREUSHE OME UMLIHS eTEMTE-
of the Democracy. 8 WNsa|b SHeuSWIDTEGLD.

(iv) Opposition Party seriously criticizes () erdnssL 8, S| TEMTEI&S S 61
the policies and bills introduced by the Q&TeTan&&HET LHMID M PSLI-
Government. uBSSLLHL s wCsrgrssamen

gallyors efloiélé@b.

(1) (i) only 1) () wrew

(2) (), (i) and (iv) @) O (i) Lomid (iv)

(3) (i) and (i) (3) (i) HmLd (i)

b,
(4)  All the above 4) Qereu MG
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Aamr@eual&E&E  Gaanp

3 € first woman to space, Valentina 177. (y)QGIS]GU e )
) : QgCrage&TalT 6rary
Tereshk pelorigs to ... ... counhtry. aurQaeeigerm ©d ) :
ova belongs to _ poll g ‘—:‘~~:ﬁ -y
Goigpoi. Y1~ ~ 22k
(1) USA (1) QI M&sT
(2) Japan (2) &ggurrsiﬂ | ‘
(3) USSR @ Careilus @m@uw
@ @psur

4) India

178. ‘Bl @DIuSL g6 QgD .

is the shape of ‘Stop” sign. i
(1) eramGaremid G~ 2 39

178.
(I) Octagon
(2) elLLD

(2) Circle
@) @ésCSesrrmTLb

(3) Triangle
@—1 =i G memTLD

(4) Hexagon
179. _______ denotes ONE TAX, ONE | 179. @@ afl, @ FHeng WHHID

MARKET AND ONE NATION. e Casd eratlngs GHISSDS.

(1) Value added Tax (1) wdiy &l @ efl  [x{ 0 -9 be

(2) Excise duty _ 2) somo e ¥

(3) Goods and Service Tax ' @1 g16@ wHmb Creneu el

(4) Wealth Tax 4) Qsgrgg eurfl

1805isrs sierih AL sns g rwUss
LOTERTEUTEHENET 2618 @&eN5s Gouam(hw.
1)  sralE {,1‘? _ 078
@] FehFmuiam
B) uURE argssn
4)  urevuy Hd)

180. The students should be encouraged to open

scheme.
(1) Insurance
(2) Sanchayeka
(3) Stock
(4) Mutual funds

-00o0- -00a-
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